= BARRACUDA

ASSEMBLING INSTRUCTION

1S KIT

WINDSCREEN KIT
BMW R-NINET

X4. SELF-BLOCKING NUT
X2. M8X45
X2. KNURLED NUT Q8

BT1300-C

WWW.BARRACUDAMOTO.COM

PROCEDURA DI MONTAGGIO:

1. FIX THE THREATED TURNED BETWEEN THE BRACKETS USING THE SUPPLIED M5X10, AS SHOWN.

2. REMOVE THE TWO ORIGINAL SCREWS THAT FIX THE HEADLIGHT.

3. THEN ASSEMBLE THE SPECIFIC BRACKETS, USING THE SUPPLIED M8X45 AND THE @8, AS ILLUSTRATED.
3. MOUNT THE WINDSCREEN TO THE SPECIFIC BRACKETS USING THE SUPPLIED BOLTS.

4. TIGHTEN EVERYTHING.

TEFLON
WASHER

LARGE
WASHER @5

M5X16

RUBBER
WASHER™ " —

/ | \A

THREATED

TURNE D'“,‘ \‘
e

\‘, ‘\zl\_;‘»_ ‘

N KNURLED




